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CHewm 331
D Circle the best answer to each of the following questions. (25 pts)
la.  Which of the following reaction mechanisms is least likely to be observed in

sterically hindered substrates?
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ib. Which of the following substrates would react fastest in an Sy1 reaction?
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lc. Which of the following substrates would react fastest as an electrophile in an
Sn2 reaction?
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Id.  Which base would most likely react through an E2 mechanism with the substrate
shown in the box?

O &
gy j\ o )J\ o CH3CH,OH HxO Br

substrate Sheomg, all ot wealk
S"R’w‘ca“j ff\tmﬂ‘ﬂ—(’t—é’()(

le.  Which of these would react fustest in an Sx2 mechanism with sodium cyanide?
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2. Predict the major organic product of each of the following reactions. Show

stereochemistry where appropriate. Put your answer in the box for credit. (24 pts)
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3. For each of the three reactions shown below, circle the letter that corresponds to
the energy diagram at the bottom of the page that most accurately represents the reaction.
You can use your knowledge of the mechanistic steps involved in each reaction even if
you have not seen an energy diagram for that particular reaction. Consider each reaction

in the forward direction, from left to right. (15 pts)
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4, Predict the products of each of the following Sy1 reactions. Show stereochemistry
in your structures at all asymmetric carbons. Then identify the correct stereochemical
relationship between the structures (enantiomers or diastereomers) and whether they are
formed in equal amounts or unequal amounts by circling the correct terms (16 pts).
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Sa. Draw an arrow-pushing mechanism showing the conversion of the starting
material to the product. Include all curved arrows, necessary lone pairs and non-zero
formal charges. Be sure to draw all structures clearly (10 pts).
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5b.  Draw an arrow-pushing mechanism showing the conversion of the starting
material to the product. Include all curved arrows, necessary lone pairs and non-zero
formal charges. Be sure to draw all structures clearly (10 pts).
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